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TD5003 RAIING. 2 cscvcosncarsrnncansnse

Nov. 2022
STRUCTURAL TEXTILE DESIGN-1V

Fruifea @ 39 [FAftreran 31 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
A (i) ¥vI-97 § AT 9wA-g, Head@E )
Note : There are THREE sections in the paper A, B and C.
(i) QFA-T g TE 1 F G 10 T F I AT | FeAw AT G b F 8
ud @4 10 977 TG TFR F T % 8 |

Answer all the 10 parts of the question No. 1 in Section-A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) Q- F 8 FoT T @ ol 6 991 & IR @Y | ¥F ¥ 3 3% P18 T
E7HT 5 EH / 50 WGl 7 IR o7 |
Answer any 6 questions out of the 8 questions in Section-B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) T F 6 Yo 4 @ FEET 4 I & I QT | FeAF T 8 3 FI & T
377 15 3 / 150 Wiegl 4 35% g /|
Answer any 4 questions out of the 6 questions in Section-C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) Y GF & T 5 1 FHER T T § BT |
Solve all the questions of a section consecutively together.

(i) @ T & i g @ R d S SrarE & A 8

Only English version is valid in case of difference in both the languages.

JFH - T
Section — A
1. (i) <l b JehiE HiE H a3y fon S 2 |
(a) @i (b) @ dE
(c) grehe dig (d) &g TAI
In twill face Bedford cord is used.
(a) Sateen (b) Twill weave

." (c) Basket weave (d) None
& (10f 4) P.T.0.
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(ii)

(i)

(iv)

v)

(vi)

(vii)

(20f4) . TRSS

Jee 3t fuss i fagman 2 -

(a) TR Al hi Tger (b) Hue i =t # fararfia dee
(c) wEIHfrRIgIE F Y e A HE  (d) Iows Tt

Welt & Pique are characterized by

(a) Ridges and series of warps

(b) Welts extended across the width of the cloth

(¢) Welts or cords with a plain calico weave
(d) All of the above

amd Jag 1S A Y e i a1 I e HT I
fepa s 2 |

(a) @3 (b) @3 TH

() THIRTH d) UH3IR

In warp backed weave series of warp and series of weft get used.
(a) Two & Two (b) Two & One

(c) One & One (d) One & Two

IS TR ?

(a) A% UTSA HLT (b) a1 YIgS HT=AT

() (a)d(b)eHi (d) 2fm

What are Plushes ?

(a) Weft pile structure (b) Warp pile structure

(¢) both (a) & (b) (d) Denim

FHieg I HI 38 A & oft 7 S1an 2

(a) e (b) dmd urse

(c) HiSA d) e TEA

Corded Velveteen also known as

(a) Terrypile (b) Warp pile (¢) Corduroys (d) Uncut pile
qeenyNE g H s ug@ # |

(a) w9 (b) e (c) e (d) @rfea
Figured effects are more prominent in weave.

(a) Lappet (b)  Swivel (¢) Plain (d) Sateen

Het feea gae Faiy | 39 €4 areft uie I J@ed

(a) &g aM, %y 9, fefan ad, fefan aw, 3% and

(b) % amd, ¥ 9w, feefem and, fefan aw, $a and

(c) H MY, ¥ 9%, o a4, g ave, fefam ard/aw

(d) I9U® | H1E TE

The five series of yarns used in centre stitched double cloth

(a) Face warp, Face weft, Stitching warp, Stitching weft, Back warp.
(b) Back warp, Back weft, Stitching warp, Stitching weft, Face warp.

(¢c) Face warp, Face weft, Back warp, Back weft, Stitching warp/weft.
(d) None of the above.
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(3of4) 7255
(viii) afgn amn &+ i % WY A& 7T a1 2 |
(a) dm™I (by @1
(© (a)d®b)TH (@) fe=an
The Wadding warp never interface with
(a) warp (b) weft
(¢) Both(a) & (b) (d) Stitch warp
(ix) qehi atferan HAAR |
(a) TR UTEA (b) T uEA
(© ()3 (b) (d)
Turkish towelling is the name of
(a) Weftpile (b) Terry pile
(c) .Bot.h (a) &- (b) _ (d) None
(x) AT 21 il A SR A H U 1 <6 e § qar 2 |
(a) afas arfl yv= (b) wEEd gl g9
(c) = 99 (d) g
Combination of two colours arranged in warp and one colour in weft produce
(a) Horizontal stripe effect (b) Vertical stripe effect
(¢) Check effect (d) None (1x10)
JaH — ot
Section - B
Jewrs Fé F) anfiga I |
Classify the Bedford Cord. 3)
qocH 8 7
What are welts ? (3)
e AT w1 drfiehel fAfE |
Write the classification of Backed cloth. 3)
b zrafem w @fem feoft fafad |
Write short note on Turkish towelling. 3)
72 yree T A R 7 we H fefed |
What is weft pile structure ? Write in brief. (3)
Toh-fira gaet F1d ) queTs |
Explain self-stitch double cloth. 3)

P.T.O.
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8.

kL

12.

13.

14.

15.

bRz

sifater g gro fenfn 8 s R a9ga @ 7

What do you understand by figuring with extra threads. (3)
a1 3R g g 1 aftfya Sifs |
Define colour and weave effect. (3)
e — ot
Section - C
@ HH SSHIE HI FATS I U6 Y9 T T3 |
Construct plain faced Bedford cord weave on graph paper. (8)
=1 &1 IerE |fga aviA Hifs
Explain the following with example :
(a) fueh Hfsrn
Pique fabric
(b) ard aree IR 99 Hfsw
Warp Wadded Weft Backed Fabric (4+4)

20 e w1 2 7 20 use HEA W SaTiE e 6 e U9 ey

What is terry pile ? Construct the following on graph paper based on the terry pile
structure : (2+6)

(i) hH Td8 9 Usd

Pile on face side

(i) 2l Fa8 T uEd

Pile on both sides

TEA FATY HEAIH] H1 GUE HEA §U U Sl T sEd FY A1 Bl AT U9 W
13T |

Explain double cloth structure and draw a centre stitched double cloth structure on
graph paper. (4+4)

sifafeen i gr fefon @ 2 7 sifafts amn 918 6t ars 9w W aETE |

What is figuring with extra threads ? Construct a weave of extra warp on graph

paper. (3+5)
< 3TE WIS BT ATH I T G |
Construct a bird eye effect on graph paper. (8)




